THE MOCK TEST 14-2021

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in 
Question 1: A. looked 

B. laughed 

C. stepped 

D. moved
Question 2: A. astound 

B. account

C. mounting

D. country 
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the 
Question 3: A. follow

B. protect 

C. survive

D. evolve 
Question 4: A. magazine 

B. computer 

C. employee

D. connection 
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
Question 5: Neither of them will be treated preferentially, _______? 
A. will them 

B. will they 

C. won't they 

D. won't them 
Question 6: This exercise may .................. with a pencil.


A. be written
B. be to write
C. be writing
D. write

Question 7: _______ you study for these exams, _______ you will do.


A. The harder / the better 
C. The hardest / the best


B. The more / the much
D. The more hard / the more good,

Question 8: We ____ to the hospital to visit Mike when he ___​___ to say that he was fine. 
A. were driving - was calling 


B. drove - called 
C. were driving – called


D. drove - was calling 
Question 9: __________his inexperience in the field, John applied for the job
A. Although
B. Despite of
C. Despite
D. In spite
Question 10: When I_______the book, I’ll return it to the library.
A. will finish

B. will have finished
C. finish

D. am finishing
Question 11: Global warming will result _______ crop failures and famines.
A. with

B. from

C. for 


D. in 
Question 12: Pass me the______cups to have my sister clean them.

A. red big plastic
B. big red plastic
C. red plastic big
D. plastic big blue

Question 13: IPhone 7 is the latest _______ in the field of smartphone design of Apple. 
A. creator 

B. create

C. creative 

D. creation 
Question 14: Whatever happens, I shall always________ you. 
A. stand by 

B. stand up to 

C. go after 

D. put up with 
Question 15: The _______ of his first novel appeared in The Times yesterday.
A. survey

B. inspection

C. appraisal 

D. review 
Question 16: Michael Hart was the _______ of Project Gutenberg, one of the longest-lasting online library projects. 
A. founder 

B. author

C. architect

D. father 
Question 17: After working at the same company for thirty years, my grandfather was looking forward to his ________.
A. overtime 

B. pension 

C. charity

D. allowance 
Question 18: I’m a sharp cookie. There’s no way anybody can pull the wool over my___________.

A. eyes


B. tissue

C. truth

D. grass
Question 19: ______, they discovered that their house had been burgled.

A. After they have returned from the trip
B. To have returned from the trip

C. Having returned from the trip
D. They had returned from the trip
Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each Question 20: With so many daily design resources, how do you stay up-to-date with technology without spending too much time on it? 
A. connect to Internet all day


B. update new status 
C. get latest information


D. use social network daily 
Question 21: A.I. algorithms can also help to detect faces and other features in photo sent to social networking sites and automatically organize them. 
A. categorize 

B. connect 

C. recognize 

D. remind
Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in 
Question 22: It is not fair to give such a challenging task to an inexperienced staff like her. 
A. comprehensible
B. difficult 

C. provocative

D. intriguing 
Question 23: Many people move to urban areas seeking for job opportunity as well as stable employment.

A. durable 

B. long-lasting 
C. steady

D. temporary 
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the 
Question 24:  John is talking to Daisy about her new blouse 
- John : "You really have a beautiful blouse, Daisy, I’ve never seen such a perfect thing on you !"

- Daisy : “____________________.”

A. I'm sorry to hear that.


B. Thanks, That’s a nice compliment .

C. Don't mention it. 



D. Thanks for your gift! 

Question 25: Mai and Tuan are talking about modern Robot 

 
Mai: I believe that modern robots will be more intelligent and replace humans in many dangerous jobs.

 Tuan: ____

A. That's just what I think of course. 


B. That sounds interesting. 

C. That's a good idea.




D. Why not? Believe me! 

Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best 
At present, single-parent families ought to be of great focus, be recognized and supported as they are a growing family form and should not be an afterthought in family, economic and labor market policies. Single parent families should be (26) _______ considered and addressed in all family policy discussions and decisions. (27)________, home-care cash allowances, which are paid to a parent who abstains from employment to take care for her child at home, can have significant consequences encouraging lower levels of female employment among single-parent families, (28)________ in turn results in higher childhood poverty. In this regard, work-life balance policies and workplace practices also need to (29)________ a single-parent perspective, for example, the impact of non-standard work hours when childcare is not available.
The provision of educational and skill-building opportunities and affordable quality day care become even more urgent in families with single parents. Such families should have a higher priority and subsidized access to childcare facilities. Governmental agencies should be established (30)________ child support payment from non-resident parents in case of conflicts, disagreements or delayed payments, e.g., after a divorce or separation.
(Adapted from http://www.socialtrendsinstitute.org/)
Câu 26. A. implicitly

B. clearly

C. indirectly 

D. completely 
Câu 27. A. For instance
B. However

C. Moreover 

D. Therefore 
Câu 28. A. who

B. whose

C. which 

D. that 
Câu 29. A. take responsible for


B. take in hand
  C. take no notice of 



D. take account of 
Câu 30. A. to facilitate
B. facilitating

C. facilitated 

D. facilitate
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct 

In the twentieth century, people demand on unlimited energy to power their everyday lives. A wide range of energy-run devices and modern conveniences are taken for granted, and although it may seem that we will never be in danger of living without those conveniences, the fact is that many supplies of energy are dwindling rapidly. Scientists are constantly searching for new sources of power to keep modern society running. Whether future populations will continue to enjoy the benefits of abundant energy will depend on the success of this research.

Coal, oil, and natural gas supply modern civilization with most of its power. However, not only are supplies of these fuels limited, but they are a major source of pollution. If the energy demands of the future are to be met without seriously harming the environment, existing alternative energy sources must be improved or further explored and developed. These include nuclear, water, solar, wind, and geothermal power, as well as energy from new, non-polluting types of fuels. Each of these alternatives, however, has advantages and disadvantages.

Nuclear power plants efficiently produce large amounts of electricity without polluting the atmosphere; however, they are costly to build and maintain, and they pose the daunting problem of what to do with nuclear wastes. Hydroelectric power is inexpensive and environmentally safe, but impractical for communities located far from moving water. Harnessing energy from tides and waves has similar drawbacks. Solar power holds great promise for the future but methods of collecting and concentrating sunlight are as yet inefficient, as are methods of harnessing wind power.

Every source of energy has its disadvantages. One way to minimize them is to use less energy. Conservation efforts coupled with renewable energy resources, such as a combination of solar, water, wind, and geothermal energy and alternative fuels, such as alcohol and hydrogen, will ensure supplies of clean, affordable energy for humanity’s future.
Question 31: The passage mainly discusses___________.
A. the current situation of energy demands
B. the way to use less energy
C. the difficulties in finding new sources of energy
D. the advantages and disadvantages of some sources of energy 
Question 32: The word “dwindling” in paragraph 1 is closest in meaning to “___________”

A. rocketing 

B. declining 

C. doubling 

D. distributing 
Question 33: According to the passage, which of the following is NOT true?
A. Just like coal, nuclear energy is a pollutant to the air.
B. It is hard for people away from the water to use hydroelectric power 
C. Scientists are on their way to look for alternative sources of energy.
D. Wind power and solar power have the same problem. 
Question 34: What can be inferred from the passage?
A. Scientists will not resume their search for new types of energy until they have found a perfect one.
B. Using hydroelectric energy can be harmful to our atmosphere.
C. It is impossible for some groups of people to enjoy water energy.
D. The only way to decrease the disadvantages of sources of energy is to use them less.
Question 35: What does the word "they” in paragraph 3 refer to?
A. nuclear power plants


B. amounts of electricity
C. advantages and disadvantages 

D. nuclear wastes
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct 
An air pollutant is defined as a compound added directly or indirectly by humans to the atmosphere in such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible definition that permits continuous changes. When the first air pollution laws were established in England in the fourteenth century, air pollutants were limited to compounds that could be seen or smelled- a far cry from the extensive list of harmful substances known today. As technology has developed and knowledge of health aspects of various chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might be considered an air pollutant under certain conditions.
Many of more important air pollutants, such as sulfur oxides, carbon monoxides and nitrogen oxides are found in nature. As the Earth developed, the concentration of these pollutants was altered by various chemical reactions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil. On a global basis, nature’s output of these compounds dwarfs that resulting from human activities.
However, human production usually occurs in a localized area, such as a city. In such region, human output may be dominant and may temporarily overload the natural purification scheme of the cycles. The result is a concentration of noxious chemicals in the air. The concentrations at which the adverse effects appear will be greater than the concentrations that the pollutants would have in the absence of human activities. The actual concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us little until we know how much of an increase this represents over the concentration that would occur naturally in the areA. For example, sulfur dioxide has detectable health effects at 0. 08 parts per million (ppm), which is about 400 times its natural level. Carbon monoxide, however has a natural level of 0. 1 ppm and is not usually a pollutant until its level reaches about 15 ppm.
Question 36. The word “adversely” is closest in meaning to __________.
A. considerably
B. quickly

C. admittedly

D. negatively
Question 37. According to the passage, the numerical value of the concentration level of a substance is only useful if __________.
A. the other substances in the area are known
B. it can be calculated quickly
C. it is in a localized area


D. the natural level is also known
Question 38. According to the passage, human-generated air pollution in localized regions ___________.
A. will react harmfully with natural pollutants
B. can overwhelm the natural system removing pollutants
C. will damage area outside of the localized regions
D. can be dwarfed by nature’s output of pollutants
Question 39. The word “these” in the second paragraph refers to ___________.
A. the compounds moved to the water or soil
B. the various chemical reactions
C. the pollutants from the developing Earth
D. the components in biogeochemical cycles
Question 40. The word “localized” is closest in meaning to ___________.
A. specified

B. circled

C. encircled

D. surrounded.
Question 41. Which of the following is best supported by the passage?
A. Scientists should be consulted in order to establish uniform limits for all air pollutants.
B. Human activities have been effective in reducing air pollution.
C. One of the most important steps in preserving natural lands is to better enforce air pollution laws.
D. To effectively control pollution, local government should regularly review their air pollution laws.
Question 42. What does the passage mainly discuss?
A. The effects of compounds added to the atmosphere.B. The economic impact of air pollution.
C. What constitutes an air pollutant.

D. How much harm air pollutants can cause.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in 
Question 43: My friend didn’t drink any beer since we came to live here.

                                                  A           B

              C                D

Question 44: There were too many participants in the event, so each of it was asked just one question.

                            
A                          
B                  C              D

Question 45: Food prices have raised so rapidly in the past few months that some families have been forced to alter their eating habits.


A. raised

B. rapidly

C. that


D. to alter
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each 
Question 46: We haven't seen our uncle for three years.


A. We first met our uncle three years ago.



B. The last time we met our uncle was three years ago.


C. We never saw my uncle three years ago.



D. Three years is a long time for us to see our uncle.

Question 47: “Don’t touch the electric wires. It might be deadly.” said Steve to Mike.
A. Steve advised Mike not touch the electric wires as it might be deadly.
B. Steve warned Mike not to touch the wires as it might be deadly.
C. Steve suggested that Mike not touch the electric wires as it might be deadly.
D. Steve accused Mike of touching the electric wires as it might be deadly.
Question 48: It isn’t necessary for us to discuss this matter in great detail.
A. We should discuss this matter in great detail.

B. We might discuss this matter in great detail
C. We needn’t discuss this matter in great detail

D. We mustn’t discuss this matter in great detail.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of 
Question 49: Tim dropped out of college after his first year. Now he regrets it. 

A. Tim regretted having dropped out of college after his first year. 

B. Tim wishes he didn’t drop out of college after his first year. 

C. Tim regrets having dropped out of college after his first year.

D. Only if Tim had dropped out of college after his first year.

Question 50: We arrived at airport. We realized our passports were still at home.

A. Had we arrived at the airport, we would have realized our passports were still at home.

B. Only after we realized our passports were still at home, did we arrive at the airport.

C. Only when we realized our passports were still at home, did we arrive at the airport.

D. Not until we arrived at the airport, did we realize that our passports were still at home.
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Câu 1: D 
Kiến thức: Phát âm “ed” 

Giải thích: 
Quy tắc phát âm “ed”: 

– Phát âm là /ɪd/ khi đồng từ tận cùng bằng hai phụ âm /t/, /d/. 

– Phát âm là /t/ khi động từ tận cùng bằng các phụ âm vô thanh /p/, k/, /f/, /s/, /ʃ/, /tʃ/. 

– Phát âm là /d/ khi động từ tận cùng bằng các phụ âm hữu thanh /b/, /g/, /v/, /z/, /ʒ/, /dʒ/, /ð/, /m/, /n/, /ŋ, /l/, /r/ và các nguyên âm. 


A. looked /lʊkt/ 

B. laughed /lʊkt/ 


C. stepped /step/ 

D. moved /muːvd/ 

Phần gạch chân phương án D phát âm là /d/, các phương án còn lại phát âm là /t/. 

Câu 2: Đáp án D 
A. astound /əˈstaʊnd/

B. account /əˈkaʊnt/
C. mounting /ˈmaʊntɪŋ/
D. country /ˈkʌntri/

Câu 3: Đáp án A trọng âm rơi vào âm 1. Động từ 2 âm tiết có đuôi –ow mà phát âm là əʊ/ thì trọng âm rơi vào âm 1
Các động từ còn lại trọng âm rơi vào âm 2
Câu 4: Đáp án A. Trọng âm rơi vào âm 3 /ˌmæɡəˈziːn/

Các đáp án còn lại trọng âm rơi vào âm 2 
Computer /kəmˈpjuːtə(r)/
Employee /ɪmˈplɔɪiː/
Connection /kəˈnekʃn/
Câu 5: Đáp án B 
Câu hỏi đuôi của thì tương lai đơn, lưu ý “neither of mang nghĩa phủ định. Do đó, vế sau phải chọn “will they?” 
Dịch nghĩa: Không ai trong họ sẽ được đối xử ưu tiên chứ? 
Question 6: Đáp án A
Câu 7: Đáp án D
Câu 8: Đáp án C
Chúng tôi đang lái xe đến bệnh viện thăm Mike thì anh ấy gọi điện nói rằng anh ta khỏe rồi
Hành động đang xảy ra trong qk thì hành động khác xen ngang vào giữa. Hành động xen ngang chia qkđ, hđ còn lại chia qktd
Câu 9: Đáp án C
Câu 10: Đáp án C
Mệnh đề trạng từ chỉ thời gian: When S + V (hiện tại đơn), S + V (tương tai đơn/be going to + V_infinivite)
Câu 11: Đáp án D
Kiến thức về cụm từ cố định
result from st: bắt nguồn, là kết quả của cái gì
result in st: gây ra cái gì
Tạm dịch: Sự nóng lên toàn cầu sẽ dẫn tới mất mùa và đói kém. 
Câu 12: Đáp án B
Câu 13. Đáp án D
Sau adj ta cần danh từ => loại B, C
Chủ ngữ là danh từ chỉ vật nên cần danh từ chỉ vật làm bổ ngữ => loại A
IPhone 7 là sản phẩm mới nhất trong lĩnh vực thiết kế điện thoại thông minh của Apple
Câu 14: Đáp án A 
stand by: ở cạnh giúp đỡ ai 
stand up to: phản kháng lại, chống lại 
go after: theo, bám đuôi ai 
put up with: chịu đựng 
Câu 15: Đáp án D
Kiến thức về từ vựng
A. survey /ˈsɜːveɪ/ (n): cuộc khảo sát, kiểm tra
B. inspection /ɪnˈspekʃən/ (n): kiểm tra, khám xét cẩn thận, kỹ lưỡng 
C. appraisal /əˈpreɪzəl/ (n): sự kiểm tra về giá trị, tình trạng, chất lượng,…
D. review /rɪˈvjuː/ (n): lời nhận xét, đánh giá, bình luận (bày tỏ quan điểm cá nhân về cuốn sách, bộ phim,…mới ra)
Tạm dịch: Những lời bình luận về cuốn tiểu thuyết đầu tiên của anh ấy đã xuất hiện trên tờ báo Times ngày hôm qua đấy.
Câu 16: Đáp án A
A. người sáng lập

B. tác giả

C. kiến trúc sư

D. người cha
Michael Hart là người sáng lập Project Gutenberg, một trong những dự án thư viện trực tuyến dài nhất
Câu 17 đáp án B
A.Thời gian tăng ca
B.lương hưu

C.từ thiện

D.phụ cấp
Sau khi làm việc tại cùng một công ty trong ba mươi năm, ông tôi đã mong chờ lương hưu
Question 18: Đáp án A
Pull the wool over someone’s eyes (idm.): lừa gạt
Câu 19: Đáp án C
Câu 20: Đáp án C
Stay up-to-date: cập nhật = get latest information
Với rất nhiều tài nguyên thiết kế hàng ngày, làm thế nào để bạn cập nhật công nghệ mà không mất quá nhiều thời gian cho nó?
A. kết nối internet tất cả các ngày
B. cập nhật tình trạng mới
C. nhận thông tin mới nhất
D. sử dụng mạng xã hội hàng ngày
Câu 21: Đáp án C
Detect (điều tra) = recognize
A. phân loại
B. kết nối
D. gợi nhớ
A.I. thuật toán cũng có thể giúp phát hiện khuôn mặt và các tính năng khác trong ảnh được gửi đến các trang mạng xã hội và tự động sắp xếp chúng.
Câu 22: Đáp án A
Challenging (adj) thử thách
A. dễ hiểu
B. khó khăn
C. trêu trọc
D. hấp dẫn
Thật không công bằng khi giao một nhiệm vụ đầy thách thức như vậy cho một nhân viên thiếu kinh nghiệm như cô
Câu 23: Đáp án D
Stable (ổn định)><temporary (tạm thời)
Câu 24: Đáp án B

Tình huống giao tiếp 
John đang nói chuyện với Daisy về chiếc áo mới của cô ấy 
 John : Bạn có chiếc áo sơ mi thực sự đẹp, Daisy, Tôi chưa bao giờ nhìn thấy chiếc áo nào hợp với bạn như vậy 

- Daisy : “____________________.”

A. I'm sorry to hear that.
Rất xin lỗi khi biết điều nay


B. Thanks, That’s a nice compliment . Cảm ơn, Đó là lời khen tuyệt vời 

C. Don't mention it. 
Không vấn đề gì




D. Thanks for your gift! Cảm ơn vì món quà của bạn

Câu 25: Đáp án A

Tình huống giao tiếp

  
Mai and Tuấn đang nói chuyên vỡi nhau về Robot hiện đại 

 Mai:   Mình tin rằng Robots hiện đại sẽ thông minh hơn và thay thế con người trong nhiều công việc nguy hiểm

  
 Tuấn : ____

A. That's just what I think of course. 
 ; Di nhiên đó cũng là điều tôi nghĩ

B. That sounds interesting.: nghe có vẻ thú vị

C. That's a good idea.
: đó là ý kiến hay




D. Why not? Believe me! : Tại sao không? Tin tôi đi

Tạm dịch: Dịch: A: Tôi tin rắng những robot hiện đại sẽ thông minh và thay thế con trong nhiều việc nguy hiểm

            B: ____

Câu 26: Đáp án B
A. implicitly /ɪmˈplɪsɪtli/ (adv): một cách không trực tiếp, ngầm; hoàn toàn
B. clearly /ˈklɪrli/ (adv): một cách rõ ràng, dễ hiểu
C. indirectly /ˌɪndaɪˈrektli/ (adv): một cách gián tiếp, không rõ ràng
D. completely /kəmˈpliːtli/ (adv): một cách hoàn toàn, tuyệt đối
Tạm dịch: “Single parent families should be clearly considered and addressed in all family policy discussions and decisions” (Những gia đình cha hoặc mẹ đơn thân nên được xem xét một cách rõ ràng và được ghi tên trong tất cả các thảo luận và quyết định về chính sách gia đình). 
Câu 27: Đáp án A
A. for instance /fɔːr ˈɪnstəns/ (conj.) = for example: ví dụ, chẳng hạn
B. however /ˌhaʊˈevɚ/ (conj; adv): tuy nhiên
C. moreover /ˌmɔːrˈoʊvɚ/ (conj; adv): hơn nữa, ngoài ra, vả lại
D. therefore /ˈðerfɔːr/ (conj; adv): do đó, do vậy, vì lẽ đó…
Tạm dịch: “_______, home-care cash allowances, which are paid to a parent who abstrains from emloyment to take care of for her child at home, can have significant consequences encouraging lower levels of female employment among single-parent families…” (Chẳng hạn, những khoản trợ cấp tiền mặt cho việc chăm sóc tại nhà, cái mà được dành cho bố/mẹ nghỉ việc làm để chăm sóc con cái họ ở nhà, có thể có những tác động đáng kể khuyến khích mức độ việc làm phụ nữ thấp hơn giữa những gia đình cha/mẹ đơn thân).
*Từ này nối hai câu liên tiếp nhằm để câu sau đưa ra bằng chứng cho giả thiết câu trước. 
Câu 28: Đáp án C
*Vì sau “whose” cần N nên loại B; trước “that” không được có dấu “,” nên loại D và đại từ quan hệ cần điền không phải thay thế cho N chỉ người nên loại A.
Tạm dịch: “…..can have significant consequences encouraging lower levels of female employment among single-parent families, _______ in turn results in higher childhood poverty.” (…..có thể có những tác động đáng kể cái mà khuyến khích mức độ việc làm phụ nữ thấp hơn giữa những gia đình cha/mẹ đơn thân, điều mà do đó sẽ gây ra mức độ nghèo đói cho trẻ em cao hơn).
*Như vậy, từ which là thay thế cho cả cụm từ “lower levels of female employment among single-parent families”. 
Câu 29: Đáp án D
A. take responsible for (coll): chịu trách nhiệm cho cái gì
B. (tobe) take in hand: nắm quyền, kiểm soát
C. take no notice of (coll): không chú ý, để ý đến ai/ cái gì
D. take account of sth= take sth into account (coll): xem xét, cân nhắc kĩ điều gì
Tạm dịch: In this regard, work-life balance polices and workplace practices also need to _________ a single-parent perspective, for example, the impact of non-standard work hours when childcare is not available. (Xét về mặt này, các chính sách cân bằng giữa công việc- cuộc sống và nơi làm việc cũng là một khía cạnh của ông bố/bà mẹ đơn thân cần phải xem xét kĩ, chẳng hạn là những tác động của giờ giấc làm việc không chuẩn mực khi việc chăm sóc trẻ là không sẵn có). 
Câu 30: Đáp án A
A. to faciliate (to v): để làm cho dễ dàng, thuận tiện
B. faciliating (ving): làm cho dễ dàng, thuận tiện
C. (be) faciliated (ved): (được) làm cho dễ dàng, thuận tiện
D. faciliate (v): làm cho dễ dàng, thuận tiện
*Vị trí cần một “to V” để chỉ mục đích nên chọn Tạm dịch: “Governmental agencies should be established________ child support payment from non-resident parents in case of conflicts, disagreements or delayed payments, e.g, after a divorce or separation” (Các cơ quan chính phủ nên được thiết lập để làm cho thuận tiện trong những khoản tiền hỗ trợ trẻ em có cha mẹ không nơi ở trong những trường hợp xích mích, bất đồng hay những khoản tiền bị trì hoãn, chẳng hạn sau li dị hoặc ly thân).
Question 31: Đáp án D
Câu trả lời dựa vào nội dung toàn bài đọc.
Coal, oil, and natural gas supply modern civilization with most of its power However, not only are supplies of these fuels limited, but they are a major source of pollution
Nuclear power plants efficiently produce large amounts of electricity without polluting the atmosphere; however, they are costly to build and maintain, and they pose the daunting problem of what to do with nuclear wastes.
Question 32: Đáp án B
Dwindle (v): thu nhỏ lại, co lại, suy yếu, hao mòn
Câu trả lời dựa vào thông tin “the fact is that many supplies of energy are dwindling rapidly. Scientists are constantly searching for new sources of power to keep modem society running."
Question 33: Đáp án A
Phương án C xuất hiện trong đoạn 1. Phương án B và D xuất hiện trong đoạn 3.
Hydroelectric power is inexpensive and environmentally safe, but impractical for communities located far from moving water => Đáp án B
Scientists are constantly searching for new sources of power to keep modern society running. => Đáp án C
Solar power holds great promise for the future but methods of collecting and concentrating sunlight are as yet inefficient, as are methods of harnessing wind power.=> Đáp án D
Question 34: Đáp án C
Câu trả lời dựa vào thông tin “Hydroelectric power is inexpensive and environmentally safe, but impractical for communities located far from moving water.”
Question 35: Đáp án A
Câu trả lời dựa vào thông tin ‘Nuclear power plants efficiently produce large amounts of electricity without polluting the atmosphere; however, they are costly to build and maintain”
Question 36: Đáp án D
- adversely (adv) ~ negatively : có hại, bất lợi, tiêu cực
- considerably (adv): đáng kể
- quickly (adv): nhanh
- admittedly (adv): phải thừa nhận, phải thú nhận
Question 37: Đáp án D
Theo bài đọc, giá trị bằng số của nồng độ một chất chỉ có ích nếu ____________.
A. Những chất khác trong vùng đó được biết đến
B. Nó có thể được tính toán nhanh 
C. Nó ở trong khu vực hạn định
D. Mức độ tự nhiên cũng được biết đến
Dẫn chứng: “The actual concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us little until we know how much of an increase this represents over the concentration that would occur naturally in the area.”
Question 38: Đáp án B
Theo bài đọc, ô nhiễm không khí do con người tạo ra trong những vùng xác định ________________.
A. sẽ phản ứng có hại với những chất ô nhiễm tự nhiên.
B. có thể làm ngập hệ thống tự nhiên với những chất ô nhiễm thải ra. 
C. sẽ phá hoại khu vực bên ngoài của những vùng hạn định.
D. có thể bị làm nhỏ lại do sản phẩm chất ô nhiễm của tự nhiên.
Dẫn chứng: “However, human production usually occurs in a localized area, such as a city. In such region, human output may be dominant and may temporarily overload the natural purification scheme of the cycles.”
Question 39: Đáp án D
“As the Earth developed, the concentration of these pollutants was altered by various chemical reactions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil.” (Khi Trái đất phát triển, nồng độ của các chất ô nhiễm này đã bị thay đổi do các phản ứng hóa học khác nhau ; chúng đã trở thành các thành phần trong các vòng tuần hoàn sinh - địa - hóa. Những cái này phục vụ như là một chương trình thanh lọc không khí bằng cách cho phép các hợp chất chuyển từ không khí vào nước hoặc đất.)
Question 40: Đáp án A
- localized: xảy ra trong một khu vực nhỏ, hạn định địa phương, xác định ~ specified
- circled: xoay quanh
- encircled:vây quanh, bao quanh
- surrounded : bao quanh, vây quanh
Question 41: Đáp án B
Điều nào sau đây được bài đọc ủng hộ nhất?
A. Các nhà khoa học nên hội ý để thiết lập những giới hạn đồng nhất cho tất cả những chất ô nhiễm không khí.
B. Những hoạt động của con người có hiệu quả trong việc giảm ô nhiễm không khí.
C. Một trong những bước quan trọng trong việc bảo tồn những mảnh đất tự nhiên là thi hành tốt hơn những luật về ô nhiễm không khí.
D. Để kiểm soát ô nhiễm hiệu quả thì chính phủ địa phương nên thường xuyên xem lại những luật ô nhiễm không khí.
Question 42: Đáp án C
Đoạn văn chủ yếu thảo luận về điều gì?
A. Những ảnh hưởng của các hợp chất được thêm vào không khí.
B. Tác động kinh tế của ô nhiễm không khí.
C. Những gì cấu tạo nên một chất ô nhiễm không khí.
D. Những chất ô nhiễm không khí có thể gây ra bao nhiêu tác hại.
Câu 43: Đáp án A didn’t drink => hasn’t drunk 
Câu 44: Đáp án D
Sửa lại: it => them
Câu 45: Đáp án A: raised => rose
Raise + st (ngoại động từ)
Câu 46: đáp án B
Câu 47: Đáp án B
Câu gốc thể hiện sự cảnh báo: Steve nói với Mike “Đừng chạm vào dây điện. Có thể chết người đấy”
A. Steve khuyên Mike không chạm vào dây điện vì nó có thể chết người=> sai nghĩa
B. Steve cảnh bào Mike không chạm vào dây điện vì nó có thể chết người => đúng
C. Steve gợi ý Mike không chạm vào dây điện vì nó có thể chết người => sai nghĩa
D. Steve buộc tội Mike không chạm vào dây điện vì nó có thể chết người => sai nghĩa
Warn sb not to V = warn sb against Ving
Câu 48: Đâp án C
It isn’t necessary for sb to V = S + needn’t V
Question 49: Đáp án C Hối tiếc đã làm gì: regret + having V3/ed
Câu 50: Đáp án D
A. Sai cấu trúc
B. Sai trật từ hành động (chúng tôi đến sân bay trước và nhân thấy việc để quên hộ chiếu xảy ra sau)
C. Sai trật từ hành động (như đáp án B)
D. Đúng
